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KX-G7100/7101 KX Ver 4.0

KXA02=+1,30,4,0,180,3,3<CR><LF>

KXAO1=T,LH,LM,HH,MM,A,D,D,D,D,D<CR><LF>
T : (1-6)
6 LH : UTC ' +9) MM ( .. 00 - 59)
LM : UTC C .. 0 A (O/R . 1-8)
(KXS37=1) HH - ( .00 - 23) D C )
D
0 OFF
3 ( )
4 GCC (Gce )
5 DTE ( )
6
7
8
| < >
1 2 3 4 5 6 1/0 0/R 2 00 30
KXA01=1,+9,0,0,30,2,1,2<CR><LF>
* "KXAO1=0<CR><LF>
* 30
1 10080
KXAO02=LH,LM,HH,MM,1,A,D,D,D,D,D<CR><LF>
(KXS37=1)

LH uTC C .. +9)

LM uTC ' 0) /f /f /f

HH ( .00 - 23)

MM ( .00 - 59) -

702 (KXS37=0) A (1 - 10080 ) W
o 1o I
D
| | | | | - 0/R 3 04 00 3
| | | | |




KX-G7100/7101 KX

Ver 4.0

AO3

(KXS37=1)

(KXS37=0)

— SO ﬁ%\
e EEEE——

KXA03=1,A,D,D,D,D,D<CR><LF>

(1 - 1440 )
(O/R .. 1-98)

0/R 3 1
KXA03=60,3.1<CR><LF>

...60




KX-G7100/7101 KX

Ver 4.0

170 KXA05=P,T,A,D,D,D,D,D<CR><LF>
P : (0-1)
(KXS37=0) T -
T
0| OFF
1| LOW -> HI
2 | HI -> LOw
AO05 3 | HI <-> LOW
A : (O/R .. 1-18)
/f /f D :
T r < >
" : : LOW  HIGH 0/R
Lo I 1
KXA05=0,1,3,3<CR><LF>
KXA06=A,D,D,D,D,D<CR><LF>
A : (O/R .. 1-28)
D :
AO6
< >
0/R 2

KXA06=2,1<CR><LF>




KX-G7100/7101 KX

Ver 4.0

AQO

KXAQO<CR><LF>
DTE
KXA00=0<CR><LF>
KXA01 KXA05
KXA04 0
0
KXAQ0=0<CR><LF>
(KXA01-05)




KX-G7100/7101 KX Ver 4.0
KXBO1=T,LH,LM,HH,MM,C,A,D,D,D,D,D<CR><LF>
T : (1-6)
LH : UTC « .. +9) C ( 9 )
LM = UTC « .. 0 A (0/R .1-28)
HH : ( ...00 - 23) D )
MM ( ... 00 - 59)
D
0| OFF
1
2
3 (
4| 6CC (6cc )
5| DTE ( )
6
7
BO1 8
< >
0/R 00 30

<
9]
2)

KXB01=1,+9,0,0,30,0,2,1,2<CR><LF>

>
"KXB01=0<CR><LF>
KXAO01,KXA02,KXA03,KXA04 ,KXB02 ,KXB03

0( ) KXAO1
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(KXS37=1)
KX$37=0




KX-G7100/7101 KX

Ver 4.0

B0O2

1 44640

KXB02=LH,LM,HH,MM,1,C,A,D,D,D,D,D<CR><LF>

LH : UTC « .. +9)
LM : UTC « .. 0)
HH ( ...00 - 23)
MM : ( ...00 - 59
1 (0 - 44640 )
c : ( 8 )
A =

(O/R .. 1-28)
D

< >
04 00 1
0/R
KXB02=+9,0,4,30,60,6,3, 1<CR><LF>

< >
1) KXA01,KXA02,KXA03,KXA04,KXB01,KXBO3
2) 0

3) (KXS37=1)
15

5) KXS37=0
6) 0( ) KXA02

NOT B NOT C

BO3

KXB03=1,C,A,D,D,D,D,D<CR><LF>

(1 - 1440 )

( 8 )
(O/R . 1-8)

O ==

< >

1) KXAO1,KXAO2,KXAO3,KXBO1,KXBO2

2) (KXS37=1)
15

5) KXS37=0
6) 0( ) KXAO3




KX-G7100/7101 KX

Ver 4.0

KXB06=A,D,D,D,D,D<CR><LF>

A : (O/R . 1-28)

D :
BO6

< >

0/R 2
KXB06=2,1<CR><LF>
KXBOO<CR><LF>
DTE

BOO KXBOO=0<CR><LF>

KXB01

KXBO3

(KXB01-03)

KXBO0=0<CR><LF>




B
(NOT)B
C

(NOT)C

D

E

BORC

B OR (NOT)C
(NOT)B OR C
(NOT)B OR (NOT)C
BORD
BORE
(NOT)B OR D
(NOT)B OR E
CORD
CORE
(NOT)C OR D
(NOT)C OR E

B AND C
B AND (NOT)C

(NOT)B AND C
(NOT)B AND (NOT)C
B AND D

B AND E

(NOT)B AND D
(NOT)B AND E

C AND D

CANDE

(NOT)C AND D

(NOT)C AND E

10
10

10
10

10
10




KX-G7100/7101 KX Ver 4.0
GCC ID KXS01=N<CR><LF>
S01 N: GCC ID (0 - 255)
GCC( 130
KXS02=S<CR><LF>
S02 S:
0: 0
( ) 1:
KXS03=P<CR><LF>
S03 P:
0: ( )
1: 0
2:
3: (
KXS04=1<CR><LF>
OR
S04 Y,
1-3 GCC OR 1
KXS05 =I1<CR><LF>
I :
S05 OR 0
1-8 OR
9-13 OR 1
14 GCC
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KX-G7100/7101 KX

Ver 4.0

S06

ACK

ACK

ACK

(Gee/ )
ACK

KXS06=A<CR><LF>
Ar  ACK

GCC
GCC

ArWNPFO

S07

KXS07=T,0<CR><LF>
T: Type (0-15)
0: Object
case T=0 0=2o0r 5 (2: ita2, 5:iad)

KXS07=0,2 ASCIH1
KXS07=14

14

S08

Ack

KXS08=S<CR><LF>
S: 5-9: 0-4 GCC

Gee 10-14: 0-4
GCC

A WNPEFPO

S09

KXS09=S<CR><LF> KXS09=1 ( )

S: 0:
1:

S10

KXS10=1<CR><LF>
1: (0-65535) T 1
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KX-G7100/7101 KX Ver 4.0
KXS11=N<CR><LF>
S11 N: (0 -255) 1
KXS12=N<CR><LF>
N: (0 -65535) [MIN]
S12 o
KXS13=N<CR><LF>
N: (0 - 255)
S13 0
KXS14=N<CR><LF>
N : 0 - 4)
0: GCC
1: GCC
2:
S14 3: GCC GCC 0
4: GCC GCC
GCC
KXS15=B,C<CR><LF> 88
B: (0 - 29) 100
S15 C: ( 0 - 399) 174
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KX-G7100/7101 KX Ver 4.0
KXS16=T<CR><LF>
1 T: (1- 255)
S16 60
) 1 (1sec) 50 : KXS17=n KXS16 nx50
KXS17=C<CR><LF>
C: (1 - 16)
S17 2
: KXS17=n KXS16 nx50
KXS18=S<CR><LF>
S: 0: OFF
S18 1: ON 0
KXA KXB
OFF(KXS18=0)
1 KXS24 (0) KXS18 (1)
KXS19=R,P<CR><LF>
R: 4/8/12/16 [sec]
819 P: 50 - 150 ( 4S€C) 4.50
25 - 75 ( 8sec) ’
20 - 50 ( 12sec)
20 - 35 ( 16sec)
KXS20=A<CR><LF> A: (0 - 65535) [ 1
S20 KXS18=1
. 360
Polling Command KXS23 age KXS20
Position Report
Position
Report 2 Position Report
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KX-G7100/7101 KX Ver 4.0
KXS21=Q<CR><LF>
Q: (0 - 15) 3
S21 0 : GPS
GPS GPS 1-15: GPS :I(GPS )
GPS 0-3:
4-15: :I(GPS )
KXS22=A<CR><LF>
522 A (12 -8760) [ 1 672
KXS23=XXX . XXX, YYYY.YYY<CR><LF>
XXX XXX : (-90.000 - +90.000)
S23 YYYY_YYY - (-180.000 - +180.000) 8-3
ON OFF KXS24=M<CR><LF>
M:
S24 0: 1
DTE GPS 1:
OFF
: KXS18 (1)  KXS24 (0)
KXS25=1<CR><LF>
1) KXS60=0( ) 3) KXS60=2(6 )
GPS I:O l:
: 0:
525 1: NMEA 1-
GPS GCC
2) KXS60=1(10 )
I:
0: GPS
1: GPS
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KX-G7100/7101 KX Ver 4.0
KXS26=T<CR><LF>
T: 2 - 30
526 OTE ( ) I 1 5
KXS27=T<CR><LF>
T: (1 - 30) [SEC]
S27 DTE ACK 5
KXS28=R<CR><LF>
528 DTE ACK R: (0 - 255)
NG 5
KXS29=R<CR><LF>
R:
S29 0: 0
1:
DTE
KXS30=N,P,S,0,11,12,13,14,15, 16<CR><LF>
530 N: GCC ID (0 - 255) (1)
P: 0,1
(10 S: Eo -4, %o - 14) 2
0: O/R 0 - 3) 1
11 - 16 : (0 -255) All 0
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KX-G7100/7101 KX Ver 4.0

KXS31=M<CR><LF>
) ) 0
531 DTE - %
: KXS43(len =7)  KXS31(0) ... len=8
$33( ) S34( )
KXS32=T<CR><LF>
DTE
DTE T: 0
S32 1: bmode_rx_son bmode_rx_eom
DTE 0
$33( ) S34( )
APPENDIX C
KXS33=T<CR><LF>
533 DTE T: (1 - 604800) [ 1 !
KXS34=L<CR><LF>
S34 L: (1 - 1b g size) .
DTE : KXS48
SOM/EOM, SOM/EOM KXS35=A,B,C,D<CR><LF>
Az TX_SOM
i Ty KXS-32  SOM/EOM 2
S35 TX SOM/EOM : DTE 2; &_Egm ] © - 127 10 N 2
RX SOM/EOM : DTE D: RX EOM SOM/EOM 2
3
SOM/EOM
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KX-G7100/7101 KX
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KXS36=T<CR><LF>
T:

S36 0:
1:
2.
KXS37=M<CR><LF>
M:
0: OFF
537 1: ON
KXS38=I1<CR><LF>
S38 I: (0 - 535600) I 1
KXA/B
KXS39=1<CR><LF>
I: - 864
539 (0 -86400) T 1
KXA/B
KXS40=M<CR><LF>
S40 M:

0: OFF
1: ON

© KXS61(1) KXS40(1)

RS232C
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KX-G7100/7101 KX

Ver 4.0

(DTE- ) KXS41=C<CR><LF>
C:
S41 0: CTS 1
1:
KXS44 (0)  KXS41 (1)
( - DTE ) KXS42=C<CR><LF>
C:
S42 0: RTS 1
1:
KXS44 (0)  KXS42 (1)
RS232C KXS43=B,P,S,D<CR><LF>
B: bps P: S: D .
S43 DTE 0 2000 % 24t 0- 1 7 E;‘Z‘
1: 600 4: 4800 1- 2 8 :
2: 1200  5: 9600 . 5:1
- D:8
KXS31 (0)  KXS43 (len=7)
232C A ON
RS232C
RS232C KXS44=D<CR><LF>
D:
S44 DTE 0:
1: 1
2: ( DTE )
KXS41 (1)  KXS44 (0), KXS42 (1)  KXS44 (0)
KXS45=T<CR><LF>
T: .
S45 0: o oTE
. N NACK 0
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KX-G7100/7101 KX

Ver 4.0

KXS46=T<CR><LF>

T:
S46 o
1.
0:
NACK ( )
1:
KXS47=0<CR><LF>
0:
S47 0:
1:
KXS48=S<CR><LF>
S: ( APPENDIX A)
S48 1: 1K/7K 5: 5K/3K
8k byte 2: 2K/6K 6: 6K/2K
3: 3K/5K 7: T7K/1K
4:  4K/4K
KXS34
S49 ( )
PIN KXS50=C<CR><LF>
S50 PIN C: (0 - 9999)
6CC 0
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KX-G7100/7101 KX Ver 4.0
KXS51=S<CR><LF>
351 s: ( "10. )
0: OFF
1: ON
GPS KXS52=D<CR><LF>
D: (0 - 100)
552 GPS - .
WGS84 : 0
RTS KXS53=S<CR><LF>
S:
S53 RTS ORBCOMM 0 1
1:
S54
(
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KX-G7100/7101 KX Ver 4.0
KXS55=P[ ,P]<CR><LF>
S35 P: (1.2) 1.2
KXS56=L,U<CR><LF> L: 1
S56 GPS (KX-G7101) L: (0.1 - 5000) u- o
KXB u: 0:Km, 1:mile, 2:NM
KXS57=LAT,LON,R,U<CR><LF> AT 0.0
S57 : LAT: (-90.000 - +90.000) T
o (kx-67101) LON (-180.000 - +180.000) LON: 0.0
R : (0.1 - 5000) U -0
u : 0:Km, 1:mile, 2:NM )
KXS58=S, U<CR><LF>
S58 - S : 1 - 255 S 110
Eig (Kx-67101) u : (O:Km, 12mile, 2:NM v 0
KXS59=S<CR><LF>
S59 SC HOST S: o
1:
KXS59 0
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KX-G7100/7101 KX

Ver 4.0

KXA,KXB KXS60=F<CR><LF>
S60 F-
0:
1: (10 )
2: ( GPS )
KXS25 ( KXS25 )
2 KXS74(1)  KXS60(2)
RS232C KXS61=S<CR><LF>
S61 RS232C RS232C S:
0: OFF
1 ON
2 KXS61(1) KXS40(1)
RS232C
S62 ( )
KXS63=S,LH,LM,HH1,MM1,HH2 ,MM2<CR><LF>
S63 S: 0: 1:
LH - UTC « .. +9) 0
LM : UTC « .. 0)
HH1: ()
MM1: ()
HH2: ()
MM2: ()
KXS64=S<CR><LF>
S64 S:
15 0: OFF(15 )
KXB = ONC )

22




KX-G7100/7101 KX

Ver 4.0

S65

(DTE )

KXS65=S<CR><LF>

S:
0: OFF(
1: ON(

KXS65

DTE

Position Report
Communication Command Position Report

Position Determination Command(tc:1 2

KXS65=0( )

KXS65=1( )

Position
Determination
Command(tc:1,2)

/DTE

DTE Position Status

Position Report

DTE Position Status

Position Report

Communication Position Report Position Report
Command
CC:27
GPS Doppler Position Report
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KX-G7100/7101 KX

Ver 4.0

KXS66=S<CR><LF>

S66 S: o: oFEC ,
RAM 1: ON( ) = RAM 0
KXS66=1
KXS67=S<CR><LF>
867 S:
) 0: OFF( ) 0
1: ON( )
RS232C KXS68=S<CR><LF>
S68 R$232C S o:
1: RS232C
2: RS232C 0
(1 KXS68=1
(2) RS232C 9600bps KXS68=2
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KX-G7100/7101 KX

Ver 4.0

S69

RS232C

RS232C

KXS69=S<CR><LF>
S:
(KXS68=0)

NP~ O

(KXS68=1)

1. KXS69=0 KXS68=1
2. KXS69=2

3. KXS69=2 KXS68=1
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KX-G7100/7101 KX Ver 4.0
KXS70=S<CR><LF>
S70 S:
0 :
1-9: (= 0
KXS70=1
ID KXS71=CCCC<CR><LF>
S71 C: 4 (0-9,A-7) 0000
ID
KXS72=S<CR><LF>
S72 S: 0
0:
1:
S73 ( )
KXS74=S<CR><LF>
S:
S74 (KXA) (KXB) 0:
2 1: 0
1 KXS74(1) KXS60(2)
KXS75=S<CR><LF>
S:
S75 (KXA) 0: ( or ) 1
(KXB) 1: ( ) (Ver.F 0)
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KX-G7100/7101 KX Ver 4.0
KXS76=E<CR><LF> 5
S76 E: (0-145°)
KXS77=S<CR><LF>
S:
S77 DTE cl) ( ) 0
KXS78=S<CR><LF>
S: 0
S78 0:
DTE =
KXB KXS79=T<CR><LF>
S79 T: (5-20)T 1 10
KXS80=S<CR><LF>
S80 S: 0

msg body type
subiect

or ind

or addr
priority

msg data

O

GCC
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KX-G7100/7101 KX Ver 4.0
KXS81=T<CR><LF>
T: 3600
581 Ver.4.1 ( 0 - 3932100) [ ]
Ver.F (0-65535) [ 1
KXS82=T<CR><LF>
T: 300
S82 Ver.4.1 (0 -15300) [ ]
Ver.F ( 0 - 900) I 1
KXS83=L<CR><LF>
S83 L: 1
0 0S 0: Low
1: HIGH
KXS84=M<CR><LF>
M:
S84 ( Ggﬁ 0: OFF, KXS01 GCC 0
oce 1: ON, KXSO1  KXS85 GCC
DTE GCC ID 2: N, Gee
GCCID
GCC KXS85:B, I<CR><LF>
B: 0 - 11)
585 KXS84=1 GCC I: GCC ID (0 - 255) ALL O
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KX-G7100/7101 KX Ver 4.0

KXA/KXB KXS86=<D0><D1><D2><D3><D4><D5><D6><CR><LF>

DO - D6 :
S86 0: 1.1.1.1.1.1.1
1:

KXs86-=0,1,1,1,1,1,0

GPS ( ; KXS87=<D><CR><LF>
GPS PDOP
D : PDOP (1 - 10)
587 ' oS (PDOP )
10
) Ver.4.1
Ver. F
KXS88=<D><CR><LF>
D :
0 :
1: 2
) 25
S88 3:
4 2 27 30
24
) Ver.4.1
Ver. F
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KX-G7100/7101 KX

Ver 4.0

S00

KXSO0<CR><LF>

KXS01=2<CR><LF>
KXS02=3<CR><LF>
KXS03=2<CR><LF>

KXS86=1111111<CR><LF>
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KX-G7100/7101 KX

Ver 4.0

KXM01=CCCCCCCCC.. ... C<CR><LF>

MO1 ccce. .C: ( 200 )
UTC KXUTC=LH,LM,DY,DM,DD,TH, TM, TS<CR><LF>
LH - UTC « .. +9)
UTC LM : UTC ¢ . 0)
DY :
DM :
(60 ) DD utc+  ( )
TH
™
TS
1.
2. KXA/KXB
KXAZKXB
3. GPS GPS
LED KXLED=S<CR><LF>
S:
LED LED 0-
1:
2:
<CTRL> RS232C ON RS232C <CTRL>R
+R
RS232C RS232C
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KX-G7100/7101 KX

Ver 4.0

KXDO1=M, X, Y<CR><LF>
(X.Y = 0:LOW/ 1:HD

D01
M: 0: 0 ( :0,X)
1: 1( :1,X)
2: ( S 2. L X 0. Y 1)
1/0
ON < > 0 LOW
KXD01=0,0<CR><LF>
KXDO1<CR><LF> ,
KXD01=1.,1.0.0
IN PORTO=HI— ‘\ L ouT PORTL=LOW
IN PORT1=HI—— — oUT PORTO=LOW
KXDO2<CR><LF>
D02
< >

KXD02=AD1,AD2,0,0,0,0,0<CR><LF>

ADL : 1 (0 - 255)
AD2 - 2 (0 - 255)
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KX-G7100/7101 KX Ver 4.0
KXPO1=C<CR><LF>
c: 0: OFF (
PO1 1: 0 - 0, 15 1)
HI  LOW HI  Low
2: 0 - 0, 15 1)
HI LW LOW ~ High
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KX-G7100/7101 KX

Ver 4.0

KXIB<CR><LF>

1B
KXOB<CR><LF>
OB
KXCB<CR><LF>
GCC
CB
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KX-G7100/7101 KX Ver 4.0
KXCHK<CR><LF>
CHK

< >
EEPROM : OK/NG<CR><LF> ........ EEPROM
RAM I OK/NG<CR><LF> ........ RAM
LOOP I OK/NG<CR><LF> ........
ASIC : OK/NG<CR><LF> ........ ASIC
RTC I OK/NG<CR><LF> ........ RTC
SYNTHE I OK/NG<CR><LF> ........
ROM Ver I X2Cln-xxx <CR><LF> ... ROM (n)

X2C1F-xxx F
4.1 4.1

USER APPL : ssss(NON ACTIVE)....... ( )

KXST<CR><LF>

ST < S

GCC ID GCC , , ID

SAT NO (000 )

1B/0B QUE : /

DATE : TC )

TOTAL SAT:

STORED SAT:

CKSUM  ERR: ( )

POS STATE:
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KX-G7100/7101 KX Ver 4.0
<CTRL>+GET  (ctrl GET)
<CTRL>
+GET < >
SYNC SEG:[ / / / /1
6CC

NCC INFO:[GCC 1D, , 10/ / /]

DL CHAN:[ / /.7 / /]

UL CHAN:[ ID / / ) ID

/ / / /]
< >
NCC INFO:[130,0,0/-899/110/01:06:13:33:24]
DL CHAN:[285/285/100,320,285,184,275,090,295,265/899/110/01: 06 13:33:24]
UL CHAN:[05/04/185,0,194,0/010/-894/110/01:06:13:33:24]
SYNC SEG:[006/000/-904/110/01:06:13:33:25]
SYNC SEG:[006/001/-915/107/01:06:13:33:26]
SYNC SEG:[006/002/-936/109/01:06:13:33:27]
UL CHAN:[05/04/179,0,366,0/037/-942/109/01:06:13:33: 28]
SYNC SEG
KXT06=1,CHNO,O0<CR><LF>
CHNO: (1 - 399)
< >
(MHz)= 137 + 0.0025x CHNO ESC
( )
TO6 CHNO=350 80
KXT06=0 50,150,250, 350 1
( 4.1 )
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98/9/21 Ver 1.1 99/12/13 Ver 3.0 Ver 3.1

KXSO1 0 130 KXA01-05
KXB06
KXS39 0 300
KXS18
KXS52 0 1
KXS40,48
KXS53 0 1
KXS65 KXS49
KXS80 KXS60.61.66.74.75
99/1/6 Ver 1.1 Ver 2.0 00/4/24 Ver 3.1 Ver 4.1
KXS21 GPS KXB03
KXS39 300 0 KXS07 Typel5
KXS53 1 0 KXS08 Typel5
KXUTC KXS16,17 KXS16
KXLED KXS33
KXCHK ROM Ver KXS38,39
KXST KXS70
<CTRL>+GET KXS75
KXS81,82
KXS87
99/9/21 Ver 2.0 Ver 3.0 KXS88
KXUTC
KXA01-05 OR 3 8 KXT06
KXAO01
KXS07
KXS09
KXS25
KXS32
KXS50 PIN
KXS53 0 1
KXS60 6
KXS69
KXS78
KXS81-86
KXUTC
<CTRL>+R
KXT06
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